Table 1.7. Some common optical and infrared forbidden
lines of atoms

Atom transition wavelength Terit
cm ™3
C1 3P, — 3P 610 pum (500)
3Py, — 3P 371 pm (1000)
Cu (C+) 2P3/2 — 2P1/2 158 pm (3000)
N1 (N*) 1Dy — 3Py 6583 A 66 000
D, — 3P4 6548 A 66 000
O1 1Dy — 3Py 6300 A 2 x 106
3P; — 3Py 63.2 um (10°)
3Py — 3P 145.5 pm (10%)
O (0+) D59 — 1S3)0 3729 A 3400
2Dy9 — *S3/0 3726 A 15000
Omr (Ot+) Dy — 3Py 5007 A 7 x 10°
Dy — 3P, 4959 A 7 x 10°
1S5 — 1Dy 4363 A 2 % 107
3Py, — 3Py 51.8 pm (4000)
3P, — 3P 88.4 ym (2000)
Nertr (N€+) 2P1/2 — 2P3/2 12.8 pm 7 x 10°
Nemr (Nett) 3P, — 3P, 15.6 yum 2 x 10°
3Py — 3P, 36.0 pm 3 x 10%
Nev (Net4) 1Dy — 3Py 3426A 2 x 107
St (St) D50 — *S3/0 6716 A 2000
2Dy — 4830 6731A 2000
St (STT) 3Py — 3Py 18.7 um 10000
3P1 — 3P0 33.5 Hm 2000
Sitr (Sl+) 2P3/2 — 2Pl/2 34.8 pm (3 X 105)
Fert (Fe™™)  a'D7/5 — a*Dgs  1.64 pm 3 x 10°

The line is close to maximum strength at the critical density
nerit-  Lhis density is calculated for collision with electrons at
T = 10000 K, except quantities in () which refer to collisions with
H atoms or molecules near 100 K.
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